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LA—63—2023

FACULTY OF COMMERCE

B.Com. (First Year) (Second Semester) EXAMINATION

NOVEMBER/DECEMBER, 2023

BUSINESS STATISTICS AND MATHEMATICS

BC-2.2

(Thursday, 7-12-2023)  Time : 10.00 a.m. to 1.00 p.m.

Time—3 Hours Maximum Marks—75

N.B. :— (i) Question No. 1 is compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of simple calculator is allowed.

1. Construct the Fisher's Ideal Index Number of price from the following

information and show how it satisfies the time reversal test : 20

Commodity 2021 2022

Price Quantity Price Quantity

A 6 40 10 50

B 4 70 5 60

C 7 80 10 70

D 10 90 12 80

E 15 60 16 55

P.T.O.

8F5ABAF1C48F2A657BE77D5F58995A6C
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WT (    2    ) LA—63—2023

2021 2022

A 6 40 10 50

B 4 70 5 60

C 7 80 10 70

D 10 90 12 80

E 15 60 16 55

2. If : 15

4 6 8 5 4 4 7 6 2

A= 6 3 2 ,B= 4 2 1 ,C= 3 4 7

3 7 4 3 3 6 4 2 1

�� � � � � �
� � � � � �
� � � � � �
� � � � � �
� � � � � ��� � � � � �

solve :

(i) A + B + C

(ii) 2A + 2B – C.

8F5ABAF1C48F2A657BE77D5F58995A6C
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WT (    3    ) LA—63—2023

P.T.O.

4 6 8 5 4 4 7 6 2

A= 6 3 2 ,B= 4 2 1 ,C= 3 4 7

3 7 4 3 3 6 4 2 1

�� � � � � �
� � � � � �
� � � � � �
� � � � � �
� � � � � ��� � � � � �

(i) A + B + C

(ii) 2A + 2B – C

Or

If :

2 4 3 3 2 1 6 4 3

A= 5 3 2 ,B= 2 5 4 ,C= 2 2 3

4 2 5 7 3 4 3 6 2

�� � � � � �
� � � � � �
� � � � � ��
� � � � � �
� � � � � �� � � � � �

solve :

(i) A + B + C

(ii) 3A + 2B – C.

P.T.O.
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WT (    4    ) LA—63—2023

2 4 3 3 2 1 6 4 3

A= 5 3 2 ,B= 2 5 4 ,C= 2 2 3

4 2 5 7 3 4 3 6 2

�� � � � � �
� � � � � �
� � � � � ��
� � � � � �
� � � � � �� � � � � �

(i) A + B + C

(ii) 3A + 2B – C.

3. A bag contains 9 green balls, 6 yellow and 5 blue balls. Three balls are drawn

at random. What is the probability that one ball is yellow and other two balls

are green. 15

Or

Find the compound interest of the amount Rs. 90,000 at  5% per annum for

four years.

% 

8F5ABAF1C48F2A657BE77D5F58995A6C



8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

8F
5A

BA
F1

C48
F2

A
65

7B
E7

7D
5F

58
99

5A
6C

WT (    5    ) LA—63—2023

P.T.O.

4. Find the value : 15

(i) 12
4C

(ii) 16
8P

(i) 12
4C

(ii) 16
8P

Or

(i) An agent received Rs. 3,200 as commission on the sale of property.

If  the amount for which the commission was obtained was Rs. 40,000.

Find the rate percentage of commission.

(ii) A purchaser received discount of 5% on the selling price of an article.

If he paid Rs. 42, what was the selling price of article ?
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5. Solve any two from the following : 10

(i) Types of Matrices

(ii) Need of Index Numbers

(iii) In how many ways can the letters of the word ‘COMMISSION’ be

arranged ?

COMMISSION

(iv) What will be the simple interest on Rs. 10,000 at 4% per annum for

three years ?
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